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0.61 x 20% =

2.27 x60% =

3.73 x90% =

0.74 x 30% =

5.4 x90% =

7.62 x 80% =

3.51 x90% =

6.9 x90% =

1.98 x20% =

6.98 x 80% =

5.7 x50% =

7.62 x70% =

8.75 x70% =

7.58 x20% =

8.36 X 20% =

7.53 x 80% =

9.18 x20% =

2.82 x 80% =

1.67 < 40% =

1.6 x 80% =
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0.61 x20% = 0.122

2.27 x60% = 1.362

3.73 x90% = 3.357

0.74 x 30% = 0.222

5.4 x90% = 4.86

7.62 x 80% = 6.096

3.51 x90% = 3.159

6.9 x90% = 6.21

1.98 x20% = 0.396

6.98 x 80% = 5.584

5.7 x50% = 2.85

7.62 x70% = 5.334

8.75 x70% = 6.125

7.58 x20% = 1.516

8.36 x 20% = 1.672

7.53 x 80% = 6.024

9.18 x20% = 1.836

2.82 x 80% = 2.256

1.67 x 40% = 0.668

1.6 x 80% = 1.28
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